| mean # PXL hits vs eta

5 2.2F
= 2f
e r
‘2 1.8¢
\Y C

1.6F

1.4F
1.2
1F
0.8F
0.6F
0.4F
0.2F

o 0F
e=]

@© o
r1.05

| mean # PXL Layers with measurement vs eta |

»1.8F
e r
1.6
Q r
=214
\ r
1.2
1+
0.8
0.6
0.4
0.2

o «OF

+—

© C
xl.05

1=

0.95

-3

| mean # STRIP hits V|

—=— DQM_V0001_R000000001__Global _mkFitbase RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

<strip hits>
e e =
o N S [e2]
T | T 11 | T 11 | T 11 | T 11

[ee)
T

<strip layers>
H
(=)

T | T T

2]
L -

(*2]
L -




	Contents
	Page 1


